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1. o sepifs, Teq fr - 1x8=8

Answer as directed :

(@) TFR D! ABAS *fRR w@efs 2

Which one of the following is micro-
environment?

N I==
Customer



(b)

(d)

(ii) TS
Society
(iii) LA “Af{c

Economic environment

(iv) ISARSS AR
Political environment

( o7 TeChT MR Bferear )

( Choose the correct answer )

SWOT-F 3= ECo! o |
Write the full form of SWOT.

O] FLASF [RIFPR Gbl SFIW Sag 397 |

Mention one hindrance of economic
growth of India.

e R o SNASs AfReR THS
CRICA “N14F) AR |
(% 7 oo o)

There is no difference between business

" environment and economiC €nviron-

ment.
( Write True or False )
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(e) RETSFITT b1 SHCTAR TCEY 31 |

Mention one drawback of privatization.

(/ The Competition Act, 2002 3./ Ir&=2S1
39y AfooR CFao AT 7 |
(o7 (7 S8 (1)

The Competition Act, 2002 is not
applicable in case of Public Financial

Institutions.
(.Write True or False )

(g WTO _____ B4 ARl C2f=e |
(4R SR )

WTO-was set up in the year .
( Fill in the blank )

(h) SAFTA-Y I3 ITfery 'S w1 ?

Where is the Head Office of SAFTA
situated?



2. Y (O ferar :

Write short notes on :

(@) SWOT RGER 8FY
Significance of SWOT analysis

(b) SLASTF T

Economic system

() SRe3 To T A, 1991-F Ay

& IREIEDEY

The chief ' characteristics of New
Industrial Pelicy of India, 1991

(d) AT T TN CFG© (AR AT

Impact of globalization on trade and
industries

> . ﬁﬁmt%ﬁﬂmﬂwu 14



&4/ Or

1991 T R SReA e R @
ofqend RECT I <41 14

Explain the changing dimension of Indian
Business Environment since 1991.

| qfiw tw R0 Afw sER RfSw orfre 93 o
afifee AfRe Rec 3 41| 4+10=14

What is business cycle? Describe the
business environment of a country during
different phases of business cycle.

591/ Or

ST FOA FRDPHR T ST (TS
e 4 | - 14

Discuss the causes of industrial sickness
with reference to N-E region of India.

SEZ4 ROl W ¥ OTWE RGN EE
SPYRUPIRR ST T4 | 6+8=14

Explain the concept of SEZ. Discuss its
advantages and disadvantages.



%241/ Or 4

SRed EXIM Tfeq e e «ft eI
€O1T fo7T | 14 §
Write a critical note on EXIM Policy of India.

IMF-3 o) S SRR [RIT S0 947 | 14

Discuss the objective and functions of IMF.

<1/ Or

APEIOF ALASF BT Aoy, [ 31 2 507 A8

FAAGF TS AN ASRT [ e 741 1
4+10=14

What do you mean byinternationak economic

grouping? Discuss  its influence on the
economic development of member nations.

o £ bl el - (A WS MR =5
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L. WW@WW 1%x8=8

Answer as directed :

e oI b1 Bome Sead 1 |

Mention one of the components of
business environment.

(@)

p) e AR, AR | R/
Ao AR 7S HY |
(% TeaCH! AR feredn )

Microenvironment deals with suppliers
/ governments / economic environment.

( Choose the correct answer )

0 Wi Rem ore w¥e Tagaq Wos (Fel
M| =X |
(% (A o o)

There is no difference between economic
growth and economic development.

( Write True or False )




(d) FDI-3 o KR! fordr o

Write the full form of FDI.

fe) T 5 2

What is black money?

() TER I8 HF JSMO I&T TREH SHSA
qfafer =A< 9o o1 ey |

(% ST fordn )

Coexistence of. public and private
sectors is one of the main features of
Indian business environment.

( Write True or False )

() IfSToFIR 9ol AR Teay 741 |

Mention one advantage of privatization.

(h) a1 I@A ____ e’ 57 &fipw |
(4@ AR @A)

Money market deals in fund.
( Fill in the blank )



g. Y (B foran - 4x4=16

Write short notes on :

(@ IS AREE AP

Components of microenvironment

(b) = 5E REPFR

Phases of business cycle

(c) CTERIFIT FRUPHZ

Advantages of globalization

(d) {mmwwﬁwmmm

Differences between money market and
capital market

3. e -Rwers, dee F41 Rfen ToAmeP A
[ 90 : 12

Explain the various factors that influence
business environment.

591/ Or

1991 49 °F1 SRy MR <ificare
e R ST 4 o

Dlsc.uss the changing dimension of Business.
Environment in India since 1991.

12



4.

Toafe FIOR FRPHA R Rwed I F91 11
Explain in detail the causes of industrial

sickness.
¥4/ Or

SWOT Reese wieq 27 SWOT Reemem. Sreerbz
Ao F91 | 2+9=11
What is SWOT analysis? Discuss the
significances of SWOT analysis.

O[Req g Somiel WS, 1991-3 Y IFEPER
A 4T | 11

Discuss the main features of New Industrial
Policy of India, 1991.

91T/ Or
SEZ wRafos Rems 3411 |WR [Rsn IRy wre
SPYRUPTEE. RET SAICeTo= <41 | 4+7=11

Explain the concept of SEZ. Discuss its
various advantages and disadvantages.

-awmmmﬁﬁﬁwwsxmw

‘Discuss the role of capital market in the

economic development of g country.



5241/ Or

@5 @4 49 TR ARARnE IREPTR.

4] | 11

Explain the quantitative credit control
measures of Central Bank.

. gmuEfes Afden ko wmEfes e IFEPRR

ferar | 3+8=11
What is international business? Write the
features of international business.

{1 /. Or

SRSy SERfoe (NAITIOR JOHT RN WAl
4] | 11

Discuss the impact of globalization on Indian
economy.
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